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H1:ASC-CHARD Y IN1 DQ frequency injections
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H1:ASC-CHARD Y IN1 DQ jitter injections
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H1:ASC-CHARD P IN1 DQ LSC injections
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H1:ASC-CHARD P IN1 DQ frequency injections
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H1:ASC-CHARD P IN1 DQ jitter injections

1.2 1

Line change [fractional]
(=) o (e} =
~ o o) o

e
N
I

— jitter [111.3 Hz]

2.75 A

2.50 A

2.25 1

2.00 A

1.75 4

—— H1:TCS-ITMX CO2 LSRPWR MTR OUT16.mean,s-trend
—— HI1:TCS-ITMY CO2 LSRPWR MTR OUT16.mean,s-trend

1.50 A

1.25 A

1.00 +

0.0

0.2 0.4 0.6 0.8 1.0
Time [Hours]

1.2 1.4 1.6



